Sense of Number Visual Calculation Policy Expanded Edition for Wren's Nest Primary School **October 2014** Graphic Design by Dave Godfrey Compiled by the Sense of Number Maths Team For sole use within Wren's Nest Primary School. **'A picture is worth 1000 words!'** www.senseofnumber.co.uk ren's Nest Primary School Wren's Nest Primary School VCP Expanded Edition © Sense of Number 2014

For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk



















Cla: Number Order

01235

The Numbers must be said once and always in the conventional order.





See at a glance how many are in small collections and attach correct number names to such collections.







Each object to be counted must be touched or 'included' exactly once as the numbers are said.



Wren's Nest Primary School

C2b: Counting Objects Starting Point and Order Irrelevance

Start

The objects can be touched in any order. The starting point and order in which the objects are counted does not affect how many there are.



Wren's Nest Primary School



The arrangement of the objects does not affect how many there are.

Wren's Nest Primary School



C3: How Many? Final number is the total

The last number said tells 'how many' in the whole collection. It does not describe the last object touched.



Wren's Nest Primary School



Sets of 5











Sets of 5







C4b: Arranging Sets of 5 (Non Linear)







ren's Nest Primary School



















"If I have 3 and then 5 more, how many altogether? Answer: 8"

Wren's Nest Primary School





Vren's Nest Primary School









A3: Forwards Jump 43 + 24 = 6764 65 66 67 63 74

Wren's Nest Primary School





ber 2014

Wren's Nest Primary School





Wren's Nest Primary School





A4b: Partitioning 86 + 48 = 13480 + 40 = 1206 $\mathbf{8}$ = Vren's Nest Primary School


A4c: Partitioning 687 + 248 = 935600 + 200 = 80080 + 40 = 1207 + 8 = 15 Vren's Nest Primary School Wren's Nest Primary School VCP Expanded Edition © Sense of Number 2014 For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk

A4f: Partitioning 4.8 + 3.8 = 8.6+3= 7 0.8 + 0.8 = 1.6/ren's Nest Primary School

A5: Partition Jot

43 + 24 = 67**60 + 7**





A5a: Partition Jot

7 + 25 =





A5b: Partition Jot

86 + 48 = 134120 + 14





A5c: Partition Jot 687 + 248 = 935800 + 120 + 15





A5d: Partition Jot

4873 + 3762 = 8635 7000 + 1500 + 130 + 5











Wren's Nest Primary School









A7d: Column Addition

4873 +37628635





A7e: Column Addition 787567 <u>446278</u> 233845 **/ren's Nest Primary School** Wren's Nest Primary School VCP Expanded Edition © Sense of Number 2014 For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk







A7i: Column Addition With Money

$E38_25$ + E27.465 E_{6}^{-} Wren's Nest Primary School



A7j: Column Addition With Decimals 73.4 + 5.67 = 79.07 **10 1 •** $\frac{1}{10}$ $\frac{1}{100}$ 73.4 + 5.67 9_07 Wren's Nest Primary School Wren's Nest Primary School VCP Expanded Edition © Sense of Number 2014 For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk



Wren's Nest Primary School











Nren's Nest Primary School





















Wren's Nest Primary School For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk



























































Wren's Nest Primary School




MA3: Number Bonds 45 + 95 = 14040 + 100 = 140





MA3: Number Bond S Learn Bonds 6 10 0 + 10 = 10 $\left(\right)$ ($\left(0 \right)$ 8 2+8 10 3 7/ 3 + 7 106 5 10 4 5 5 545 1(0) 4 5 644 102 7 + 3 10 9 0 +2 $\left(\right)$ $\left(\right)$ 10 0)(

Wren's Nest Primary School









MA3: Number Bonds 42 + 16 + 28 + 54 = 14070 70

Wren's Nest Primary School



MA3: Number Bonds

E4.56 + E3.27 + E1.44 = E9.27







MA3: Number Bonds

24.25 + 31.63 + 21.75 = 77.63



























For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk



For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk



Wren's Nest Primary School



















MA5: Round & Adjust 345 + 298 = 643345 + 300 - 2 645 -2 = 643





MA5: Round & Adjust 4645 + 1996 = 666414645 + 2006645 - 4 = 6641



MA5: Round & Adjust 6 45.2 + 49.9 = 95.145.2 + 50 - 0.95.2 - 0.1 = 95.1



























For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk






























S11: Column Subtraction







S11d: Column Subtraction







Sile: Column Subtraction 1 7 12 1 3 2735547

ren's Nest Primary School



S11f: Column Subtraction







S11h: Column Subtraction With Decimals

12.4 - 5.97 = 6.43

10 1 • $\frac{1}{10}$ $\frac{1}{100}$ 0 11 13 1 12.4 5_97 **543**







"2 groups of 5 counters makes 10 counters altogether"



Wren's Nest Primary School





(M3: Arrays)

"2 groups of 5 counters" or "5 groups of 2 counters" - "10 counters altogether"



Wren's Nest Primary School





M4a: Partitioning $15 \times 5 = 75$ $10 \times 5 = 50$ $5 \times 5 = 25$ 50 + 25 = 75

ren's Nest Primary School



M5: Grid Method Short Multiplication $15 \times 5 = 75$



50 + 25 = 75





M5a: Grid Method **Short Multiplication** $43 \times 6 = 25$

















M7G Colum Multiplication

3647 4

14588





N8: Grid Method Long Multiplication $43 \times 65 = 27$ **4()** 2400 180 200 15 2400 + 180 + 200 + 15 = 2795Wren's Nest Primary School Wren's Nest Primary School VCP Expanded Edition © Sense of Number 2014 For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk





For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk










M9f: Long Multiplication **Column Decimals** $1 = \frac{1}{10} \frac{1}{100}$ 10 $\mathbf{24.3}$ 12.15 (0.5 x 24.3) 48.60 (2 x 24.3) 0_{-75} Wren's Nest Primary School Wren's Nest Primary School VCP Expanded Edition © Sense of Number 2014 For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk







MM2: Re-ordering (9 x 2) x 5 18 x 5 = 90 $(9 \times 5) \times 2$ $45 \times 2 = 90$ $(2 \times 5) \times 9$ $\mathbf{x} = 90$ × 10 **Iren's Nest Primary School**



MM2a: Re-ordering (7 x 4) x 5 **28** \times **5** = **140** $(7 \times 5) \times 4$ $35 \times 4 = 140$ (4 x 5) x 7 **20** \times **7** = 140 %ren's Nest Primary School



MM2b: Re-ordering $(9 \times 8) \times 6$ $72 \times 6 = 432$ (9 x 6) x 8 54 x = 432* (8 x 6) x 9 48 x 9 = 432ren's Nest Primary School















MM4: Round & Adjust $49 \times 3 = 147$ $(50 \times 3) - (1 \times 3)$ 150 - 3 = 147

en's Nest Primary School



MM4a: Round & Adjust $198 \times 4 = 792$ $(200 \times 4) - (2 \times 4)$ 800 - 8 = 792

n's Nest Primary School

















MM5e: Doubling **Double 278 = 556** 400 + 140 + 16 = 556





MM9: Doubling & Halving

45×14 90 × 7 = 630







ren's Nest Primary School









ren's Nest Primary School







Wren's Nest Primary School





"How many groups of 2 can I make out of 6? Answer: 3



Wren's Nest Primary School



D4: Division as Grouping $12 \div 2 = 6$ "How many groups of 2 $\operatorname{Can I fit into 12?"}_{\operatorname{Answer: 6}}$





Wren's Nest Primary School









D8: Find the Hunk! $72 \div 4 = 18$ The Chunk Hunk! 32 + 8 18 Wren's Nest Primary School Wren's Nest Primary School VCP Expanded Edition © Sense of Number 2014



For sole use by purchasing school. Bespoke Graphic Design by Dave Godfrey - www.senseofnumber.co.uk

















Dioc: Short Division

$394 \div 6 = 65r4$

$655r4 \\ 6339^{3}6$




D10d: Short Division $591 \div 3 = 197$ 3)5291





Dioe: Short Division 5978 + 7 = 854















D11b: Chunking 34 4)136 - 40 (4 x 10) 96 - 40 (4 x 10) 56 - 40 (4 x 10) 16 -16 (4 x 2) Wren's Nest Primary School

 $136 \div 4 = 34$





Remainders













$\begin{array}{c} 26r21 \\ 37 983 \end{array}$









